
                                                                                mod. 200L/E

GASKET

Article No. Material COLOR Temperature

96640 NBR WHITE RAL 9016 -30° / 110°C
96641 EPDM GREY 70 Shore A -15° / 90°C
96645 SILICON CLEAR WHITE -50° / 200°C
96646 FKM BLACK RAL 9017 -10° / 250°C Ø 219,6

8

65

15

13

10

14

11

4

3

16

9

2

1

5

Item Article No. Designation Q.ty

1 7TA9130 TELAIO C/SUPPORTI 1

2 7CA9101B COPERCHIO FINITO 1

3 9664 GUARN. OR Ø208,9X5,34 1

4 93017 SPINA C/TESTA TORNITA 1

5 95421 ANEL. ELAS.§10 4

6 93009 SPINA Ø 12X52 3

7 91007 TIRANTE M14 L=142 3

8 97205 BOCCOLA di SERRAGGIO 3

9 94170 VOLANTINO C/RONDELLA 3

10 82027 SUPPORTO 1

11 95038 VITE TESTA TONDA M12X30 1

12 95209 DADO M12 AUTBL. 1

13 95010 VITE TE M10X20 1

14 95206 DADO ESAG M10 AUTBL. 1

15 97307 TAPPO BLU S/LOGO 3

16 97316 LOGO ADESIVO 3

O
5,3

7

12


